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3)  (Stochastic Frontier) 

 4

4)  (Ordinary least squares) 

5)

 4 

6)  4 

0

5

 (C

NA

25

+ R 

F)F)

SCBSET)

0)

50 (KSET50LTF

50 

65

LTF)

22)

3 Sto

t

astic

Un( R

Fro

ot Tt T

ntier

t))

4

2)

3 St

(Unit

ti

R

F

ot T

ti

st)

 4



45

5.1 50

 4 

 (B-LTF)  (SCBSET)

 50 (KSET50)  (KSET50LTF)

 (NAV)  5.1

 5.1.1 50

 50 (Stock Exchange

of Thailand: SET50) 50
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 2.1366%  (

)  5.5046%  ( )

 -4.9002%

50 (KSET50LTF) 

( )

 8.9563%  -11.5872%  -

0.0191%  2.1078%

 ( )  5.3133%  (

)  -4.9201%

 5.1 50

:
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(KSET50)

 -0.0108% ( )  ( )

 5.5046% 
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 / 

( ) ( )
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(

)
( )

SET50 Index 9.3261 -11.8063 5.5919 -4.9811 -0.0265 2.1660

B-LTF 6.6858 -8.3213 4.3672 -3.8608 -0.0136 1.6633

SCBSET 7.7840 -10.4199 4.7313 -4.4249 -0.0205 1.8795
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 2.1366% 

 (SCBSET) 

 -0.0205% ( )

 (B-LTF)  1.6633%

5.2  (Unit Root Test)
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 Level

 (Unit Root)  Augmented Dickey-Fuller (ADF) 

 5.2.1 without intercept & without trend  t-statistic 

 (SET50)  -21.01078  (B-LTF) 

 -21.07684  (SCBSET)  -20.46154

50  -20.99779  (KSET50LTF)  -

21.05904  MacKinnon  0.01

 -2.569700  H1

 4

 (Unit Root)  Augmented Dickey-Fuller (ADF) 

 5.2.1 with intercept & without trend  t-statistic

 (SET50)  -20.99343  (B-LTF)  -
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 4
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 5.2.1 with intercept & with trend  t-statistic
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 5.2 50  level 

Data

None Intercept Trend and Intercept 

StatusADF Test

Statistic

Critical V.

(0.01)

ADF Test

Statistic

Critical V. 

(0.01)

ADF Test

Statistic

Critical V. 

(0.01) 

SET50 index -21.01078 -2.569700 -20.99343 3.443496 -20.98165 -3.976935 I(0)

B-LTF -21.07684 -2.569700 -21.05743 -3.443496 -21.03705 -3.976935 I(0)

SCBSET -20.46154 -2.569700 -20.44386 -3.443496 -20.43631 -3.976935 I(0)

KSET50 -20.99779 -2.569700 -20.97728 -3.443496 -20.96663 -3.976935 I(0)

KSET50LTF -21.05904 -2.569700 -21.03999 -3.443496 -21.02763 -3.976935 I(0)
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 5.3 

Fund
 Constant

( i)

Coefficient

( i)

t-statistic of Critical V. 

(0.01)
Status

Mean

Efficiency (%)

B-LTF 0.29533348 0.74924373 3.9935590 2.57583 Accept  H1 34.624932

SCBSET 0.11918154 0.86390288 5.5590052 2.57583 Accept  H 82.832156

KSET50 0.20394641 0.98046258 56.742608 2.57583 Accept  H1 70.484032 

KSET50LTF 0.00707090 0.97216012 0.0026879 2.57583 Accept  H0 -

 4

 1  (KSET50LTF)

 3

 (SCBSET)  82.83%

50 (KSET50)  70.48%  (B-LTF)

 34.63%

5.4  (Ordinary Least Squares: OLS)

 4
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 5.4

Fund Constant ( ) Coefficient ( ) R2 Durbin-Watson stat 

B-LTF

0.006184
t-stat :          0.343106

prob:     0.7316

std.error:       0.01802

0.745550
t-stat:            89.51363

prob:                0.0000

std.error:       0.00833

0.942593 1.960713

SCBSET

0.002386
t-stat:           0.299226

prob:                0.7649

std.error:       0.00797

0.862813
t-stat:           251.6433

prob:                0.0000

std.error:        0.00343

0.992441 2.011602

KSET50

0.015228
t-stat:           2.484988

prob:                0.0133

std.error:       0.00613

0.983142
t-stat:           257.3025

prob:                0.0000

std.error:        0.00382

0.989334 2.143361

KSET50LTF

0.006639
t-stat:           1.440919

prob:                0.1503

std.error:      0.00461

0.972275
t-stat: 489.1111

prob:                0.0000

std.error:        0.00199

0.997980 1.966616
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 R2  0.942593 

 B-LTF 

94.26%

 B-LTF  5.6 

    Rit = 0.006184 + 0.74555*Rmt  (24)

 (Rit)  B-LTF

 (Rit)  B-LTF

 -0.01357014%  -0.01357061%

 5.5

        B-LTF                

                        ( : )

Data
B – L T F Q3-2550 to 

Q2-2552Q3-2550 Q4-2550 Q1-2551 Q2-2551 Q3-2551 Q4-2551 Q1-2552 Q2-2552

Average Rit 0.2045 0.0341 -0.0508 -0.0723 -0.3198 -0.2456 -0.0112 0.3777 -0.01357

Average Rit 0.1517 0.0445 -0.0671 -0.0738 -0.3034 -0.2679 -0.0445 0.4850 -0.01357
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 R2  0.992441 

 SCBSET 

 99.2441%

 SCBSET  5.7 

    Rit = 0.002386 + 0.862813*Rmt  (25)

 (Rit)  SCBSET

 (Ri)  SCBSET

 -0.02045829%  -0.020476596%

 5.6

    SCBSET 

                        ( : )

Data
S C B S E T Q3-2550 to 

Q2-2552Q3-2550 Q4-2550 Q1-2551 Q2-2551 Q3-2551 Q4-2551 Q1-2552 Q2-2552

Average Rit 0.16321 0.02881 -0.0489 -0.0886 -0.3638 -0.3905 -0.0417 0.61930 -0.02045

Average Rit 0.17073 0.04668 -0.0825 -0.09015 -0.3564 -0.3148 -0.0563 0.55649 -0.02047
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 R2  0.989334 

 KSET50 

98.9334%

 KSET50  5.8 

    Rit = 0.015228 + 0.983142*Rmt  (26)

 (Rit)  KSET50

 (Rit)  KSET50

 -0.01083368%  -0.01082185%

 5.7

    KSET50

          ( : )

Data
K S E T 5 0 Q3-2550 to 

Q2-2552Q3-2550 Q4-2550 Q1-2551 Q2-2551 Q3-2551 Q4-2551 Q1-2552 Q2-2552

Average Rit 0.21345 0.04750 -0.0740 -0.0927 -0.3886 -0.3636 -0.0453 0.65967 -0.010834

Average Rit 0.20706 0.06570 -0.0814 -0.0902 -0.3935 -0.3462 -0.0516 0.64661 -0.010822
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 R2  0.997980 

KSET50LTF  99.798%

 KSET50LTF  5.9 

    Rit = 0.006639 + 0.972275*Rmt  (27)

 (Rit)  KSET50LTF

 (Rit)

KSET50LTF  -0.01910000%  -0.01912394% 

 5.8

     KSET50LTF

Data
K S E T 5 0 L T F Q3-2550 to 

Q2-2552Q3-2550 Q4-2550 Q1-2551 Q2-2551 Q3-2551 Q4-2551 Q1-2552 Q2-2552

Average Rit 0.20299 0.04355 -0.0748 -0.0929 -0.3881 -0.3805 -0.0599 0.6397 -0.01910

Average Rit 0.19635 0.05655 -0.0889 -0.0976 -0.3976 -0.3508 -0.0595 0.6310 -0.01912
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 5.5.1  (B-LTF)

 B-LTF  2 . .

2550  30 . .2552  490  B-LTF

 255  52.04% 

 235

47.96%  5.10

 5.9

 B-LTF

 1 136 27.76

0 1 98 20.00

 0 0 0.00

 0 21 4.28

 255 52.04

 1 131 26.73

0 1 87 17.76

 0 0 0.00

 0 17 3.47

 235 47.96

:

5.5.2  (SCBSET)

 SCBSET  2 .2550
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 5.10

             SCBSET 

 1 115 23.47

0 1 125 25.51

 0 0 0.00

 0 13 2.65

 253 51.63

 1 112 22.86

0 1 117 23.88

 0 0 0.00

 0 8 1.63

 237 48.37

:

5.5.3 50 (KSET50)

 KSET50  2 . .2550  30

. .2552  490 KSET50

 156  31.84% 

 334  68.16%

 5.11
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 1 96 19.59
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1 96 19.59

0 0 0.00

31
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5.5.4  (KSET50LTF)

 KSET50LTF  2 . .2550 

 30 . .2552  490  KSET50LTF

 233  47.55% 

 257

 52.45%

 5.12

 KSET50LTF

 1 133 27.14

0 1 93 18.98

 0 0 0.00

 0 7 1.43

 233 47.55

 1 150 30.61

0 1 102 20.82

 0 0 0.00

 0 5 1.02

 257 52.45

:

5.6

(1- i)RfR  3

1. i = (1- i)Rf  i

 (SET50

 2. i  (1- i)Rf  i

 (SET50) 

 3. i  (1- i)Rf  i 

 (SET50) 

 Rf

 2  3 . .

3

 25

5

 490

57

5%

27

8.

0.0

1.

4

2

1

 

102

150

3

0

93 

0 

3 

LTF

0

0

0

1

0

 KSET

5.12

( )

( R 3

( T

 2 i)

SSE 50)

) f

i  ( - )Rf 3

 ( ET50)

2 i)i
SE 50)

i)Rf
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2550  2 . .2552  5 

( ) ( )

( ) ( ) ( )

 0.004106%

i i  (SET50)  E(Rm)

 -0.0265  E(Ri)  E(Ri) = i   + i E(Rm)

 E(RB-LTF)  = 0.006184 + 0.74555 E(Rm) = -0.013573

E(RSCBSET) = 0.002386 + 0.86281 E(Rm) = -0.020479

 E(RKSET50)    = 0.015228 + 0.98314 E(Rm) = -0.010825

 E(RKSET50LTF) = 0.006639 + 0.97227 E(Rm) = -0.019127

 5.13

Fund i i E(Ri f) (1-ff i)Rf E(Rf m) E(Ri)

B-LTF 0.006184 0.74555 0.004106 0.0010448 -0.0265 -0.013573

SCBSET 0.002385 0.86281 0.004106 0.0005633 -0.0265 -0.020479

KSET50 0.015228 0.98314 0.004106 0.0000692 -0.0265 -0.010825

KSET50LTF 0.006638 0.97227 0.004106 0.0001139 -0.0265 -0.019127

:

i  (1- i)Rf

 Undervalue  (NAV)

(

ET5

265 i

F

F 

T 

65 

0 -0.0

( )

T50)

0.02   +

 

E

LT -0

SET

0265

E(Ri)

=

)  

LT

618

633

0.98314 0 0

 5.13

d

0.0

0 015228

0001139

-0

0265 
m) 

(RK

E SETRE(RKS

SEE

E ))

=

E(Rm) 

+ 0.86281 E(Rm) 

+ 0.98314 E ) = 

9 + 0.97 m = -0.019

) (1 i

0.004106 0.001044

0.004106 0.

0.0041

00

-0.013573

79

06184 + 0.7455

0.002386 

(RB-LT

(R

 (

 E(Ri

UndU uva e ((N 

)Rf

V
i

 Undervaluue
i

 (N
i)Rf

AV) 


